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R. L. Wasserstein & N. A. Lazar (2016) “The ASA Statement on p-values:
Context, Process, and Purpose.” The American Statistician, 70:2, 129-133

While p-value can be a useful statistical measure, it is commonly
misused and misinterpreted. (p.131)

EDHEE WINANITEIVE) S 2 & DA

N A XM E=XE Sl
EDRZZIICDODVWTOELNE - FNHEH X (uncertainty)

ROPE (Region Of Practical Equivalence)

O. Martin (2016) “Bayesian Analysis with Python”
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import matplotlib.pyplot as plt
import numpy as np

def inv_logit(x):
return 1.0 / (1.0 + np.exp(-x))

x_coord = np.linspace(-5, 15, 1001)

y_coord = inv_logit(x_coord)

y1l coord = 1.0 -inv_logit(x_coord - 10)

yy_coord =y _coord * y1 coord * 0.8

plt.plot(x_coord, y_coord, label ="'y = inv_logit(x)")
plt.plot(x_coord, y1_coord, label ="'y =1 - inv_logit(x - 10)")
plt.plot(x_coord, yy_coord, label ="'inv_logit(x)*inv_logit(x-10)*0.8")
plt.xlabel('x', fontsize = 20)

plt.legend()

plt.savefig('FigPeak.png')

plt.show()
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import matplotlib.pyplot as plt
import numpy as np

def inv_logit(x):
return 1.0 / (1.0 + np.exp(-x))

x_coord = np.linspace(-5, 20, 1001)

y_coord = inv_logit(x_coord)

y1l coord =inv_logit(x_coord - 10)

yy_coord = (y_coord -yl _coord) * 0.8

plt.plot(x_coord, y_coord, linestyle = 'dashed’, label ='y1 = inv_logit(x)')
plt.plot(x_coord, y1_coord, linestyle = 'dashdot’, label ='y2 =1 - inv_logit(x - 10)')
plt.plot(x_coord, yy_coord, label ='(y1 - y2)*0.8')

plt.xlabel('x', fontsize = 20)

plt.legend()

plt.savefig('FigPeak_Diff.png')

plt.show()
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SD)E (Semantic Differential)
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http://y-okamoto-psy1949.la.coocan.jp/Python/IntroPyStat/



